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1.

(i)

(iii)

(iv)

)
i)

Fo9T § i GG, fea @ E

There are three sections A, B and C in the paper.

17 T & 597 5671 1 F G 10 9 & IR DT | T9F 97T 0 3HF FT 8 0F
& 10 577 TGE TR F T F 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

G @t & 8 yv 7 G 581 6 399 & IR T | ¥9% F97 3 HF FTE 0F
37H] 5 #59/50 Vgt 7§ IR e /

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within § lines/50 words.

GF7 q % 6 yv9) B G 13587 4 w7 & I Ffore | 39 J97 8 3% FT 8 vd
FTHT 15 TET/150 Wi 7 IR e /|

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

Yo% QT F TH Fe7) H1 FHIR & T §T Hilad |
Solve all the questions of a section consecutively together.
gl wra13il B 3 g7 @1 R § 3 e & 7 8
Only English version is valid in case of difference in both the languages.
¥WE - T
SECTION - A

(i) IFATE Toft & Ty T & a0 I At &

(a)
(c)

e st G (b) IR ST @
Jrgeed wt o (d) ey aat

Waves produced in air column of resonance tube are

(a)
(b)
(c)
(d)

Longitudinal stationary waves
Transverse stationary waves
Longitudinal progressive waves
Transverse progressive waves
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(i)

(iii)

(iv)

(2 of 8) 1228
o= & @ 9 91 SHE dieed Fams & T gE AT R 7

(a) P-N @ftr srne (b) e

(c) WRITHEE (d) T IHIS SIS
Which of the following diode is used as voltage regulator ?
(a) P-N junction diode (b) Zener diode

(c) Photo diode (d) LED

o 9 v [ &1 99 a4 |

- -

(@) 1.6% (b) 1.8%
() 22% d 20%

Calculate value of current I in the following diagram :

e 2
A
26A

L 4

(@) 16A b) 18A
() 22A (d 20A
o= %1 fagw smaTia &

(a) St weaor fagm o

(b) F=EA wWEw fm W

(c) EarT HEaror form qx

(d) e HeEr fm w

Lenz’s law is based on :

(a) On energy conservation law
(b) On mass conservation law

(¢) On momentum conservation law
(d) On charge conservation law
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(v) T I oF I BIhd gl 40 At B | Igeht wifF nft
(@ +25D (b) +50D
(e +75D d -25D
A convex lens has a focal length of 40 cm. Its power is
(@ +25D (b) +5.0D
(¢ +75D d -25D

(vi) afe wwae gdur o wehrer <ht fertor srfirerrareq amafea &, @ wrads i % 9 g

(a) 180° (b) 90°

(c) 45° (d o°

If an incident ray falls normal to plane mirror then angle of reflection is
(a) 180° (b) 90°

(c) 45° (d o°

(vii) Terega &= <t s &1 wme 2

(a) =g/t (b) =pA/FA™

) FTaW/FA @ F/Fam

Unit of intensity of electric field is

(a) Newton/kg (b) Newton/Coulomb

(¢) Coulomb/Newton (d) Joule/Coulomb
(viii) ST Fugeh $t fagar 2

(a) e wfery, 3= Fehed
(b) = ey, 377 Wehed
(c) 3req iy, I7eq SRhed
(@) =iy, 3= Fwe

Characteristics of a choke coil are

(a). Low resistance, high inductance
(b) High resistance, low inductance
(c) Low resistance, low inductance
(d) High resistance, high inductance
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(ix) Fll Jug Jiae ftrepan gran

(a) g A
(b) feraTersi §

(c) FHaTcThI 4

(d) FrgsTeTHI A

Energy band gap is maximum
(a) In metals

(b) In super conductors

(¢) Ininsulators

(d) In semiconductors

1228

20 e aorewd areht aon & ffifa sremdt a@it § sara 2 g % e gl @vft |

The distance between two successive antinodes in a stationary wave formed by

(x)
(a) 20 "X (b) 40 Hix
(c) 10#iX (@ sz
waves of wavelength 20 m is
(@ 20m (b) 40m
(¢) 10m (d 5m

e -
SECTION - B
JEIH IoHSH B THHTE |

Explain stimulated emission.

Foragr s Sron 35 7R et 35 P vt |

Write Faraday’s and Lenz’s Laws of electromagnetic induction.

ST Hg % Hge i Id W H |

Obtain equilibrium condition for Wheatstone bridge.

(1x10)

3

3

3)
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10.

(50f 8) 1228
ot T T 8 Ed @ 7 IeTeTr G |
What is total internal reflection ? Give examples. 3)
Tt wE STyt a7 I ferat |
Write difference between progressive and stationary waves. 3)
T % a1, gt o i afonfia Hif |
Define velocity, frequency and wavelength of wave. | | 3)
Sror Y fedrwamd fafew |
Write characteristics of LASER. (3)

W 0.2 R gegwm o 1.5 et o & o an d 2 AR A uw yeria B W R )
TE CHEHE T &7 § Ay # Preifia 8 | graeha @ % afemn §E w1 |

(g=9.8+1/82)

2 A current is flowing in a straight wire of mass 0.2 kg and length 1.5 m. It
is suspended in air in uniform magnetic field. Determine magnitude of magnetic field.
(g =9.8 m/s?) 3)

o - H
SECTION-C
mmﬁm%mﬁmﬁmaﬂmmﬁﬁhqﬁ@maﬁ | ATEYTH
fom oft mEw
Describe method and formula to dctemﬁnc velocity of sound waves in air with the

help of resonant tube. Draw necessary diagrams. )
P.T.O.
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1. () foegaum, e dicea e faga aes sa wi wfonfia Hfvd |

Define Electric current, terminal voltage and electromotive force.

(i) e & i wEEA A TR % vered w1 fafde wfedry wma w0t 6 il g |

Explain the method to determine specific resistance of material of a wire using
meter bridge. s (2‘_/3+2}/_;I+3)

12. () Foveard i wema & 3 6t S frga aws w6 B gomn H@ Ay awem |
Fravas gty oz wad |

Describe method to compare electromotive forces of two cells using
potentiometer. Draw necessary circuit diagram.

(i) fevramrdt 6 wEmEE @ wufe 39 F1 sl YROY T FE F @ § gy
i & 2 Q H1 I TP B WG a1 a3 9Rey § daen wamat wE
890 &t g 570 Fft wrea Bt B | Wt F yvafes gl B AT Y |

In the experiment of determining internal resistance of a primary cell with the
help of potentiometer when we apply a resistance of 2 Q in resistance box the
balancing lengths for o'pcn and closed circuits are 890 cm and 570 cm
respectively. Determine internal resistance of the cell. (5+3=8)

13. e gusel el & Rrgra, wrae @ wriyonent  @wwne | Aol ) g
! gioaTfia 3 |

Describe principle, construction and working of a moving coil galvanometer. Define
sensitivity of a galvanometer. (6+2=8)

14. P-Néﬁﬂgmt?P—Nﬁﬁm%aﬁﬂmﬁmeﬁﬁﬂ:ml
AT qftay fam a3 |

What is a P-N junction diode ? Explain method to draw characteristic curve of a P-N
junction diode. Draw required circuit diagram. (2+4+2=8)
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15. f= o | e & w feoaoft fafiaa .

Write short notes on any two of the following :

(i) Neanfier &1 dieedie § ®I=R

Conversion of galvanometer into voltmeter
(i)’ He-Ne S&R
He-Ne Laser
(iii) SRTII T
Optical fibre
(ivj | F-senfireh
- Nanotechnology : (4+4=8)
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